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Energy = Power x time

Total cost = cost per kW.hr x number of kW.hr

1 unit = 1 kW.hr
1. A 3 kW electric heater is left on for a time of 5 hours. Find the total kW.hr and the total cost @ 10 p per kW.hr.

2. A 15 kW motor is left on for 2 hours. How many kW.hr are used and what is the total cost @ 5 p per kW.hr?

3. A 2 kW kettle takes 0.1 hours to boil. Find the total kW.hr and the cost @ 12 p per kW.hr.

4. How many hours would a 4 kW heater be on before 12 kW.hr of energy is used up?

5. If 1 kW.hr costs 10 p and a motor is left on for 4 hours find the power in order to use 80 p worth of energy?

6. A 6 kW electric heater is left on for a time of 30 minutes. Find the total kW.hr and the total cost @ 10p per kW.hr.

7. A 200W light is left on for 2.5 hours. How many kW.hr and what is the cost @ 5p per kW.hr?

8. A 2.0 kW kettle takes 12 min to boil. Find the kW.hr and the cost @ 9 p per kW.hr.

9. How many hours would a 400W TV be on for before 8.0 kW.hr of energy is used up?

10. If 1 kW.hr costs 10p, how many hours would a 40 W lamp be left on for in order to use £1.60?
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Answers:

1.  
15 kW.hr

£1.50

2.  
30 kW.hr

£1.50
3.  
0.2 kW.hr

2.4 p

4.  
3 hours

5.  
2 kW
6.  
3 kW.hr

30 p

7.  
0.5
kW.hr

2.5 p

8.  
0.4 kW.hr

3.6 p

9.  
20 hours

10. 400 hours
